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dlb&..alla;:c.u-"-‘wibé._’-'é_—:&b&dlr/ud.n}iz_d2.'.'4__.-:D # A B,C =2, L iy :;‘»_’1 Ay

K 95 wl i fozur($Lr /el S sz/'blli(_u[l,ﬁ:/ ot | S Hu7b 35

Number of neutrons in tritium H?3 is G-I PG5t ek HY ()
' 4 (D) 300 2B 1W
AND gate can be formed by using two ... gates S (Fn P bueusTiF e iy Ut ey
NAND gates uéf 42 (D) NOR gates u‘éf/b (C) ORgates ‘ﬁ-fﬂ' (B) NOT gates c.)'?-'r <t (A)
b’xu’é}fﬂ{ukwéatﬂo Ul -q.t'ﬁ',k/ J’J;Jﬁé&{_ [.L(n’_..,cd /'»;—.G-{lf (wkélo C i
Five Joules of work is needed to shift 10 C of charge from one place to another. The potential difference
between the places is
1ov @ s5v©@©  2v B o05v 4
Electric potential and e.m.f . . : e.m.f sl J"-’-".gJ }gl
| Are the different torms 1/ //5*<i¥5 (B)  Arethe same terms (S A UF LI (A)
_ BothBandC U#» C 4B (D) Have differentunits (¥ L (C)
The step-up transformer ‘ Y 2V
Increases the input voltage <,:-b'(r?f 5‘” il (B)  Increases the input current q_e'l-zf @il aei(A)
| Has more turns in primary coil wZ__n/Eupu.‘.' J’Ilf i) /!4:! ©
Has less tutns in the secondary coil (2 ¢ LS G468 D)

In computer terminology information means q_.f“vb’u’f LGSt b

Large data &l (D) Processed data (344 (C) Rawdata G376 (B) Anydata PTNION

SIunitof e.z.f is a2y ST KHIfISH
NC'DD) NC© K'® 3 W

Which form of energy is sound ? P IATTI P

Chemical JS€'(D) Thormal J#(C) Mechanical S (B) Electrical J 461 (A)

The relation between V,fand A ofa wave is +‘;JJ uk»ﬁié',imlu""’ffﬁ‘mcﬂug

v=;—,1 M VA=f(® fA=vV B Vi=iQ

1024 bytes = wmsmee : | Bao (1024

1mB (D) 1GB (© 1MB B) 1KB (W)

Fax machine is also called....... RR— w&:o’mfw?’ u’g

Telphone c)}(f (D) Telefacsimile machine % J'l-u’-‘ & © Computer J4f B) Radio 24, Q)

Which type of image is formed by a convex lens on a screen ? ¢ o btl lb’(" V- 4@‘1‘ A

Uprig_ht and real J"u:l(f 4 (C) Inverted and virtual J".QJUJMJJ I (B) Inverted and real ‘_ﬁw’ldjl (A)
| Upright and virtual f g4 (D)

1

10

11

12

14 (Obj) - 1°° Annual 2023 SEQUENCE -3 (PAPER CODE - 7475)

L




10" CLASS - 1% Annual 2023

14525 Ao 067 k” e 23 PHYSICS Lf ff
Ug ¢

48= /S (Part 1) Usle

Q.No.2: Write short answers to any five of the followings 5x2=10 é{/’ ez FL .wé&.:.u' S5t 2 /dlr

Sk VAT ERTL A8 IS e 0l Pt 5T E) Sl
Does increasing the frequency of 8 wave also increase its wavelength ? Ifnot,, how are these quantities related ?
Define spring constant and give its unit Lty FIesE,
et tedp-¢-04m o a8z 5ZE Sl S J;qﬁ
A wave moves on a slinky with frequency of 4 Hz and wave length 0f0.4 m. Whatlsthespeedofwavc?
What is the refractive index of ice and water ? : PRIAg 3Py
P-4 ML 6om 24 Lag100m .-ﬁ‘dfiu’ u’,/;é’ %1
,AnobjectlsplacedG cminﬁ'ontofaconcavemmrtbnthu focal length 10 cm. Determine the location of the image
'Draw a diagram for the virtual image formed in a plane mirror q,hrlfwuif (o1 ld"l.gaub /"g&_(,
Define the electronics - é /.' gf( /gl
Explain deflection of clecuonsbymagnetw field ﬁaﬂu@“wbu{ <36 4
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Q.No.3: Write short answers to any five of the followings 5x2=10 é{/’ ul.l!/g Ll:ﬂéka,u" &J@; 3 /dlr

Define Loudness of sound :.‘! ..y}Ju?BMMv
‘What is meant by audible frequency range ? ] /yfe_u»{f ke
Draw electric field lines for an isolated negative point charge g E IS /2—’ -ﬂ/ Tl
Define capacltance of capacitor and write its ST unit o 481 Gt g..g } /'(
Se brudla bl mticbive F oo pbig 8/F TS, L.wi,wuw
A charged rod aftracts picces of paper. After a while these picces fly away. Why ?
| Whatis difference between bit and byte ? Yo IV (Byte) 24, sI(B1) e
| What is meant by internet ? s g

Caloulate the ﬁ'equency of a sound wave of speed 340 ms” and wavelength 0.5 m

# 05 5y 340 ms™ kJﬁv,égIr#u—’l)JMu
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Q.No.4: Write ahort answers to any five of the followings - 5x2=10 -éj U“’} lel&h:..u" J3Gus 4 /(

Jos

Stato Faraday's Law of cloctromagnetic induction 2 IS 1 s RN )
Define Electromagnetic. How many poles it has ? mz_x)gé'_’éw-é..y PGl 2
Defino Obm. Write its symbol & ./u-Jw-éw P

2
vaeﬂth=ZR- : | : | =? fé@?
Write to propétﬁes of @ ~particle o ':4-/; e J.?;k-lﬂl

Find the number of protons and neutrons in the molide 13y - A IS )Ny A1 e
What is difference between a cell and a battery ? - S LS S
Whutiutom?‘Writeitstwopm J 1% e P

ii
fii

iv

vii
viii

(Part ID pn.0
NOTE: Attempt any two quéstions from this part. x2=18 é{/" uU!Lumr»a.Bf:.u'.lm

g

How can you form images by convex lens with the help of ray diagram when an object is placed at 2F , between F and 2F

il 5" (St 2649 LoWilh-g el i oy '4-099m J;JJu’f/,.a,-Jwe..{ ®)

Apandulmnoflenglho 99 m is taken to the moon by an astronaut. The period of the pendulum is 4.9 seconds. What is
the value of “ g ” on the surface of moon ?

4 mﬂukz:ﬁ 2F »IF »i42F S .ﬁw&énc}u’ .,,,Tr_-a..uf(lf!‘ik.auf)"(f‘ | ) 5/{.}!}‘

What is ICT stand for and also write the risks of ICT to society and the environment

5 (16X 1072 ¢ dge bt HELLEWnALL 100 po Bighotilpipo 3 EE | @)
The charge of how many negatively charged particles would be equalto 100 fc . Assume charge on one negative
particlois 1.6X 1079 ¢ 7

ol LarbrgPd Lrune PofCT 41t a6/ 1CT | (W6l

Write any two Hazards of Nuclear radiation. Also writo any two safety measures of Nuclear Radiation
qtﬂiz.l,;ﬁfug.éuﬁ 5 it ANt S S L1l 100W , 220V 4L | B
g!rku,,f.,mb’anw,uam (30) arfig
Ancloch’icbulbiumaﬂmdwiﬂl 220V, 100 W. Find the resistance of the filament of the bulb. If the bulb is used 5 hours
daily , find the ongr_ginkﬂowatthomconmedbythebulbinonemomheo days)
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| The output of a NAND gate is ‘0’ when ﬁd’x‘o'q&ﬂd’&!ﬁ:{
: " B=0sA=1() B=14A=0(C) B=lsA=1(8) B=0 4 A=0 a)
| Which of the following is not processing ? ‘ ¢ e LSV

Caloulating t/oellepk> (D) Githering /11 (C) Manipulating /3932 (B) Atmranging kswe?’ (A)

4_83@(;44‘#;,(‘;;1@»,,&@’56/@”; 235 ik |

During the fission reaction of 1 kg of uranfum-235 gmount of energy in released
E - 47x101 7 @) 57x10M71 (© 77%x101 7T (B 67%x10% 7 (A)
Speed of sound at 25 °C in flint glass is | . ¢ LrdnT4as°C LU kig
3980ms” (D) 3960ms” (C) 5980ms”’ (B) 5960ms” @
| - S,
: 50.8° (D) 498 (€) 488 B) 478 W
Halflifo of plutonium 235Pu is » e 2P (%
Ju3.79% 10° years (D) Jir 7.1 X 10° years (C) Ju285 years (B) JL-4.51 X 10° years (A)
| | R oLy T abeP ST W, s
Ifthe mass of the bob of a pendulum is increased by a factor of 3. The period of the pendlﬂum's motion will
‘ " Remain the same b’d_fguﬁ’ 305 (B) Beincreased by a factor of 2 Cz okt (A)
| Be decreased by & factor of 4 €2y #f &g (D) Bo docreased by a fuctor of 2 €2 tpnf s (C)
| Which form of energy is sound ? g q.(’ UJ N J&/’lﬁb«
 chomical JE(D)  Mechanical JE4(C)  Themal Jf, #(B) Eleorical Ji A4 (A)
, Snf bz s ofe e L pr L S
Which of the following quantity is not changed during refraction of light ?

The critical angle of water s

 Its wavelength ;-Qg,Jm (D) Its speed AU (O) Tts direction =4 U1 (B) Tts frequency I |
| 10

En B e s Ll udng by S5 L LI Bl pne b fiftgl10C
Five Joules of work is needed to shift 10 C of charge from one place to another. The pdtential difference
between tho place is

- | 05V @ 2v© 5V ® 10V W
¢ fnkf,u‘f lfu}' i wlc_uzc:.—%-)cj IB-c 80 o (uz‘ o ) sl ..fmefuz‘:,z;_)z;

The combined resistance of two identical resistors , connected in series is 8 {2 . Their combined resistance in
perallel arrangement will be

Tho tur ratios of a transformer is 10, Itmeans Int0alSu kLl s 8000

=L (@ B=101p © vs="2 (B Ns=108p (W)

20 MO 40(@ 80 (B)‘ 12 .2 (A) f
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48= 7 (Part 1) it pj ) ~2~217 RIS

Q.No.2: Write short answers to any five of the followings 5210 &7 \n AL Al idstn 2 Uy
‘Define Amplitudo and Time period £ S sfeasddh |
‘What is damped oscillation ? Give its example Zo LS et e it |
What do you know about Binary Variables ? S Rk LRI Pl | i

. | Define Refructive Index, Writo its formmla 62w PSS |
| ‘What is Inverter? Draw its symbolic diagram : Lt /TS S 2 | v
If £=4Hz then find time period (T) ' o Zeht (D Loftin t=48z i | vi

Draw a labelled diagram of reflection of light zrnrlﬂusdﬁ&;’?«{d’u vii

What do youunderstand by digital and analogue quantitios ? SAZ L RN L s e S ST | vid
~_Q.No.3: Write short answers to any five of the followings 5x2=10 .27 Ll Sdits 30
Dofine intensity ofsound 2y I OT gur s |

# 0.5m Hpunzaoms™ Ly faketClijdmm | i
Calculate the frequency of a sound wave of speed 340 ms” and wave length 0.5 m '

* Define the clectric fleld W SIBA |
Draw the electric field lines for a unit +ve charge A IS, }?Id.ﬁtg;kf;)&.ﬁ( iv
‘What is the difference between data nd processed data 7 50)&(2)5{:4;:!&3 v
What is meant by silent whistle ? Wiite down its range “LExn Seitpf et Wb | vi
What is meant by information technology ? : f el plf e EHP S | vid
| What is word processing ? ! et/ bsedss | vii
Q.No.4: Write short answers to any five of the followings 5x2=10 _éu’aug} Zizibletditn 4 b
‘What s electric power ? Also writo its unit Iyl eS| i
Draw symbol disgram of Ammeter and Voltmeter - Lt UG S it ) | i

. A v 2l o2 | i
oA D125t Wb 13X e W | v
Find the mumber of protons and neutrons in the nuclide defined by 32X

State Joule's Law and also write its formula

Differentiate between Atomic number and Atomic mass number oI sl AN S Sl | v
What is carbon dating ? Write down bricfly _ Zoll el I | vi
What is the difference between generator and a motor ? SIS IR | vil

WALl LS ot e S B S Y208 | vid
Describe Right Hand Grip Rule in order to determine the direction of magnetic field of current carring conductor
. (Part 1) 5.0
NOTE: Attempt any two questions_from this part. 9x2=18 .é{f Mzl ctirne e o w2
143 ZOu e S el a L e TFEF | W6y
Explain with cirouit diagram to use of NAND gato to make of house safsty alarm ? .
5 g=10ms? FZErbfidUiat J’wz 8 AALIG kot | (B)
A simple pendulum completes one vibration in two seconds. Calculato its length when g = 10ms™ ' ‘
‘What do you mean by scoustic protection ? Explainitsmethod 4 Zeeslsf KLU T4 3 | (N 84Ul
s Zpha Sl unL £sg AL 01m Zipere 08N UASDrehenL 2igd3ycS Lin | B)
The force of repulsion between two identical positive charges is 0.8 N when the charges are 0.1 m apart. Find the

value of each cherge , _
Explain briefly , the two hazards of radiation and two safely measures 4 Lol # Sad i @aatet Bulfist, | W T AUly

Suin 2000 09SU AL A Si-eles /de o<t 12V 12400V ,adlui b i | (B)
5 ;ir:""‘:lﬂlfu»f‘ﬂ(ﬁfdﬁﬂf

A transformer is needed to convert a main 240 V supply into a 12 V supply. If there are 2000 turns on the primary coil ;
then find tho number of turns on secondary coil
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